37
45) Sim X = 8Sianx Cos X Cos 24 Con i X

__%//_54‘% EX = SAm 2.4 X

= ASim x5 fen X

= a2.(scm@. 20) Con ux

W

W

KA S P2A oD 2k Coery X

—
[

H Scmn aX €pn a2k rpabux

s

= YU 2 Simx Conxc Con 2 X Cont X

g Sim X Coa X Cos2x Lo w::///

—

q46) Sim X = 4 — 2 S/z‘f!/ll(_?_'!'__/_\_’)
9 =-

_._*7//'/—-2 Sr’%z(_g-{): 1 - 2(5(“'1/\ (%’,”—i) )Z

—

4d -2 ( StmIT Cos X -—S‘FM!(R)W‘{‘
= Z = = ﬁ)
2
= /{——2.(_;2_(5-4_4:{- - \_{‘_‘is;‘mg)

= -2 (g((e—a_gﬂgrm_i_;'))z

p—2

1 - (63’2 2069 X% Spnn ¥ +Spdx
2 < P =

g I e

= =< ( A - 2cot8im7)

- 9‘ (Mé SFM; tp S"‘ X

T



